
 
 

 

P.7 MATHEMATICS HOLIDAY WORK SET NINE 
 

 

SECTION A (40marks) 
 

1. Workout: 3 2 
3 

 

______ 
 
 
 
 
 

2. Write 55004 in words. 
 
 
 
 
 
 
 
 
 

 

3. Simplify:  
 
 
 
 
 
 
 
 
 
 
 
 

 

4. Use the diagram below and find the value of angle marked P.  
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5. Given that a = 3, b = 4, c = 3. Find the value of angle marked P. 
 
 
 
 
 
 
 
 

 

6. Change 1110two to decimal base (base ten). 
 
 
 
 
 
 
 
 
 
 

 

7. Workout the mean of P, (2P + 3), and 15. 
 
 
 
 
 
 
 
 
 
 

 

8. Using a ruler, pencil and a pair of compasses only construct an angle of 45 . 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

9. A box contains 8 blue pens and 7 red pens. Find the probability of picking a blue pen 
at random from the box. 



10. Use distributive property to workout: (4.0 152) (4.0 52) 
 
 
 
 
 
 
 
 
 

 

11. Round off 46.854 to the nearest tenths. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

12. A parallelogram has a base of 15cm and a height of 13cm. Calculate its area the 
figure below. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

13. Find the sum of the next two numbers in the sequence 2, 3, 5, 7, _____, _____ 
 
 
 
 
 
 
 
 
 

 

14. In a class of boys and girls of the pupils are girls, if there are 30 boys. How many pupils are 

in that class? 
 



15. Given that set P has 15 proper subsets. How many elements are in set P? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

16. Use a number line to work out: 2  +6. 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

17. Workout the value of in 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

18. Twelve farmers shared 4.8tonnes of maize seeds. How many kilograms did each person 
get if they shared equally? 

 
 
 
 
 
 
 
 
 
 

 

19. Write 0.903 in standard form. 



20. Find the circumference of a circular pond whose diameter is 14metres. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

SECTION B(60marks) 
 

21. In a family of 30 members, 15 ate chicken (C) on Easter, y ate meat (M) only, 5 ate 
both meat and chicken while 4 of them ate neither of the two dishes.  
(a) Complete the Venn diagram below. 

 

30   
= =  

 

 

___ 5 ___ 
 
 
 
 

 

(b) Find the value of . 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

(c) Find the probability of selecting a member at random who ate only chicken. 



22. Use 43.56 to answer the question below. 
(a) Find the product of the place value of 4 and the value of 5. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(b) Write the number 43.56 in expanded form using powers of ten. 
 
 
 
 
 
 
 
 
 
 
 
 

23. Musisi gave money to his sons James, John and Julius in the ratio of 2:3:5 respectively.  

(a) If Julius got sh. 10,000, how much money did Musisi give to his sons? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(b) What percentage of the money did John get? 



24. With a help of a ruler, pencil and a pair of compasses only, construct a triangle XYZ 
where angle YXZ = 45 , XY = 6cm and XZ = 5cm. measure angle XYZ. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

25. (a) Simplify: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(b) Workout: 
 



26. The perimeter of a rectangle below is 30cm. study it carefully. 
 
 
 
 

 

( )cm 
 
 

 

( )cm 
 

(a) Find the value of . 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

(b) Workout the Area of the rectangle. 
 
 
 
 
 
 
 
 
 
 
 

 

27. A motorist rode his bike from Kampala to Jinja at a speed of 60km/hr. for 3hours. He 
later returned to Kampala at a speed of 90km/hr.  
(a) How far is Jinja from Kampala? 

 
 
 
 
 
 
 
 
 
 

 

(b) For how long did he ride from Jinja back to Kampala? 



(c) Calculate his average speed for the whole journey. 
 
 
 
 
 
 
 
 

 

28. (a) Solve 3p –3 = 17 P 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

(b) Juma is twice as old as Annet. If their total age is 45 years. How old is Juma? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

29. In a class of 120 pupils, 30 are girls and the rest are boys. 
(a) How many boys are in the school? 



(b) Express the number of girls as a percentage of the whole class. 
 
 
 
 
 
 
 
 
 
 

 

30. Study the number line below. 
 

b  
 

a   

-6 -5 
              

-4 -3 -2 -1   0 +1 +2 +3 +4 +5 +6 +7 
        c        

(a) Find the value of:            

a = _______________  b = _______________  c = _______________ 
 
 
 

 

(b) Write the mathematical statement represent on the number line above. 
 
 
 
 
 
 
 

 

31. The table below shows marks scored by P.7 pupils in the beginning of term I mathematics 
tests. 

 

Marks 65 90 85 60 55 70 48 

№. Of pupils 2 1 2 4 3 2 1 

 

(a) How many pupils did the test? 



(b) Find the range of the marks. 
 
 
 
 
 
 
 
 
 

 

(c) Calculate the mean of the pupils who got above 65 marks. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

32. Mboize bought the following items from the shop. 
of sugar at sh. 3,400 per kg. 

  

500gms of meat at sh. 8000 per kg. 
3kg of rice for sh. 12,000. 
(a) Work out his total expenditure. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

(b) If he had sh. 30,000. How much was his change? 
 
 
 
 
 
 
 
 
 
 

 

***END*** 


